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1 Introduction 
During RAN2#119e-meeting, RAN2 agreed to use intra-gNB i2d/d2i path switch signalling and procedures as baseline for inter-gNB i2d/d2i path switch over Uu and PC5. RAN2 also figured out some potential issues for i2i path switch. In this paper, we would like to further discuss the solutions for intra-gNB i2d/d2i path switch and i2i path switch scenarios.
2 Discussion
2.1 Inter-gNB direct-to-indirect path switch
Regarding inter-gNB direct-to-indirect path switching scenarios, target relay UE belongs to a different gNB from the source gNB, and the target relay selection is an issue that need discussion. There are the following two options for which node to select the target relay UE: 
· Option 1: Source gNB selects the target relay UE
· Option 2: Target gNB selects the target relay UE
For option 1, similar to the traditional handover, it is up to the source gNB to select the target relay UE and inform the target gNB about the selected target relay UE for admission control. It is possible that the target gNB rejects the decision. But in our understanding, this situation is infrequent.
For option 2, it is up to the target gNB to select the target relay UE, the source gNB need forward the list of candidate relay UEs and the measurement results of the candidate relay UEs reported by the remote UE, to help the target gNB to determine the target relay UE.
From the perspective of the measurement results reported by the remote UE, the following cases may happen:
· Case 1: candidate cells (traditional handover)
· Case 2: candidate relay UE(s) belong to the same target gNB (inter-gNB d2i path switch)
· Case 3: candidate relay UE(s) belong to the same target gNB and candidate cell(s) belong to a different target gNB (either inter-gNB d2i path switch or traditional handover)
· Case 4: candidate relay UEs belong to different target gNBs (inter-gNB d2i path switch)
· Case 5: candidate relay UEs belong to different target gNBs and candidate cell(s) (either inter-gNB d2i path switch or traditional handover)
However, according to the five cases listed above, it is possible that the candidate relay UEs reported by the remote UE to the source gNB belong to different target gNBs. Furthermore, it is possible that the remote UE may report the candidate relay UEs along with candidate serving cell(s). Then, in our understanding, before the selection of target relay UE, it should be decided whether switch to direct path or indirect path. If it is decided to switch to indirect path, how to select the target gNB? 
In our opinion, it is better to let the source gNB make choice of direct/indirect path, target gNB and target relay UE. It is against the traditional handover procedure if the target gNB make choice of direct/indirect path. If the target gNB selects target relay UE, the source gNB need forward the list of measurement results of the candidate relay UEs to different target gNBs (e.g. case 4, case 5), and wait the target gNBs to inform of the selected target relay UEs (along with RRC configurations) respectively. In the end, the source gNB may have to select one of the target relay UEs selected by different target gNBs. What’s more, the target gNBs may select no target relay UEs (similar to admission control). According to the analysis above, option 2 is not efficient and increases the Xn signalling overhead, especially for case 4 and case 5. Anyway, the source gNB probably has to make the partial choice. We see no obvious benefits from option 2 to change the legacy handover decision maker (i.e. option 1). 
Proposal 1: For inter-gNB direct-to-indirect path switching, the source gNB selects target relay UE.

2.2	indirect-to-indirect path switch
In Rel-17, the following events are introduced to provide necessary information for the NW to trigger intra-gNB direct-to-indirect/ indirect-to-direct path switching in L2 U2N relay scenario.
· Event X1: Serving L2 U2N Relay UE becomes worse than threshold1 and NR Cell becomes better than threshold2.
· Event X2: Serving L2 U2N Relay UE becomes worse than threshold.
· Event Y1: PCell becomes worse than threshold1 and candidate L2 U2N Relay UE becomes better than threshold2.
· Event Y2: Candidate L2 U2N Relay UE becomes better than threshold.
Considering the potential scenarios in Rel-18, the above events could be reused for inter-gNB indirect-to-direct/ direct-to-indirect path switching scenarios (i.e. scenario A and B), while for intra-gNB/ inter-gNB indirect-to-indirect scenarios (i.e. scenario C and D), new events might be needed. For indirect-to-indirect scenarios, the NW may trigger the change of the U2N relay based on the PC5 RSRP of the serving U2N relay and candidate U2N relay. Similar to legacy HO scenario, A3-like and/ or A5-like events listed as below could be introduced to help the NW evaluate the PC5 channel quality of serving U2N relay and candidate U2N relay and trigger indirect-to-indirect path switching when needed.
· New A3-like event: Candidate L2 U2N relay UE becomes offset better than serving L2 U2N relay UE.
· New A5-like event: Serving L2 U2N relay UE becomes worse than threshold1 and candidate L2 U2N relay UE becomes better than threshold2.
Based on the above analysis, we suggest that
Proposal 2: New A3-like event could be introduced for indirect-to-indirect path switching.
Proposal 3: New A5-like event could be introduced for indirect-to-indirect path switching.
Similar to our analysis for which node selecting target relay UE in the inter-gNB direct-to-indirect path switch scenario in chapter 2.1, it should be up to the source gNB to select target relay UE in the inter-gNB indirect-to-indirect path switch scenario.
Proposal 4: For inter-gNB indirect-to-indirect path switching, the source gNB selects target relay UE.
3	Conclusions
Based on the discussion above, we have the following proposals.
Proposal 1: For inter-gNB direct-to-indirect path switching, the source gNB selects target relay UE.
Proposal 2: New A3-like event could be introduced for indirect-to-indirect path switching.
Proposal 3: New A5-like event could be introduced for indirect-to-indirect path switching.
Proposal 4: For inter-gNB indirect-to-indirect path switching, the source gNB selects target relay UE.
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